Free particle, harmonic oscillator, Schrodinger equation

Free Porticle

$$L = \frac{1}{2} m \dot{x}^2$$
 Lagrangion

$$K(b,a) = \lim_{\epsilon \to 0} \iint dx_i dx_i dx_{N-1} \left(\frac{2\pi i \pm \epsilon}{m} \right)^{-\frac{N}{2}} exp \left[\frac{im}{2\pm \epsilon} \sum_{i=1}^{N} (x_i - x_{i-1})^2 \right]$$

Gaussian integrals
$$\int e^{-ax^2} dx$$
 or $\int e^{-ax^2+bx} dx$

Integral et a goussion is a gaussian. Integration can be done variable after variable

$$K(b,a) = \sqrt{\frac{m}{2\pi i \hbar (t_k-t_a)}} \exp \left[\frac{im(x_k-x_a)^2}{2\hbar (t_k-t_a)}\right]$$

final result

Calculation is carried out as fellows. Notice first

$$\int_{-\infty}^{+\infty} \left(\frac{m}{2\pi i t \varepsilon}\right)^{\frac{2}{2}} \exp\left\{\frac{i m}{2 \hbar \varepsilon} \left[\left(X_{2} - X_{4}\right)^{2} + \left(X_{4} - X_{0}\right)^{2}\right]\right\} dX_{4}$$

$$= \sqrt{\frac{m}{2\pi i \hbar \cdot 2\varepsilon}} \exp\left\{i \frac{m}{2 \hbar \cdot (2\varepsilon)} \left(X_{2} - X_{0}\right)^{2}\right\}$$

Next we multiply this result by
$$\frac{X_0 = X_0 \quad t_0 = t_0}{X_0 = X_0 \quad t_0 = t_0}$$

$$\frac{\sqrt{m}}{2\pi i \hbar \epsilon} \exp \left[\frac{im}{2\pi \epsilon} \left(X_3 - X_2\right)^2\right]$$

and integrate now over X2 to get:

$$\left(\frac{m}{2\pi i \hbar 3\epsilon}\right)^{\frac{1}{2}} \exp \left[i\frac{m}{2\hbar \cdot 3\epsilon} \left(x_3 - x_o\right)\right]$$

This established a recursion which, after N-1 steps, gives $\left(\frac{m}{2\pi i \hbar N \cdot \epsilon}\right)^{\frac{1}{2}} = \exp \left[i\frac{m}{2\hbar N \cdot \epsilon} \left(X_N - X_0\right)^2\right]$

$$\int_{0}^{+\infty} e^{-dx^{2} + \beta x} dx = e^{\frac{\beta^{2}}{4\alpha}} \left(\frac{\pi}{\alpha}\right)^{1/2}$$
 Gaussian

even if & and & are complex
Red>0 guarantes convergence

$$b = (x,t)$$

$$K(x_1t_j,0,0) = \left(\frac{m}{2\pi i \hbar t}\right)^{\frac{1}{2}} e^{\frac{im x^2}{2\hbar t}}$$

For large X, rapidly oscillating real and imaginary parts (90° mt of phase) when looked at for fixelt.

wavelength of oscillation

$$2\pi = \frac{m(x+3)^2 - mx^2}{2ht} = \frac{mx\lambda}{ht} + \frac{m\lambda^2}{2ht}$$

$$\lambda = \frac{2\pi t}{m(\frac{x}{t})}$$

$$x >> \lambda$$
I neghijible

From classical viewpoint a particle which moves from origin to x in time t has relacity $\frac{x}{t}$ and normalism $M\frac{x}{t}$. From QM viewpoint, if making can be adequately described by classical momentum $p = M\frac{x}{t}$, then amplitude varies in space with weelength $\lambda = \frac{h}{p}$ (de Boplie)

More generally:

we want to show that amplitude rowies repridly in space with wavelength $\lambda = \frac{h}{p}$

if Scl >> t, phase varies rapidly as a function of end print b

$$k = \frac{1}{\hbar} \frac{\partial Scl}{\partial x_k}$$
 change in phase per unit displacement $p = \hbar k$ (now mutur)

$$P = \frac{\partial L}{\partial \dot{x}} \left| \frac{\partial L}{\partial \dot{x}} \right|_{X=X_b} = \frac{\partial Sd}{\partial x_b}$$
 $k = \frac{2\pi}{\lambda}$

$$SS = S \times \frac{\partial L}{\partial \dot{x}} \Big|_{t_{a}}^{t_{b}} - \int_{t_{a}}^{t_{b}} J_{x} \left[\frac{d}{dt} \left(\frac{\partial L}{\partial \dot{x}} \right) - \frac{\partial L}{\partial x} \right] dt$$

$$p = \frac{h}{\lambda}$$
 de Brylie

Next, we bot of time dejendance of K:

$$2\pi = \frac{mx^2}{2tt} - \frac{mx^2}{2t(t+T)} = \frac{mx^2}{2tt^2} \left(\frac{T}{1+\frac{T}{t}}\right)$$

$$\omega = \frac{2\pi}{T}$$

$$\omega \simeq \frac{m}{2\pi} \left(\frac{x}{t}\right)^2$$

$$\omega = \frac{1}{t} \frac{\partial Scl}{\partial t} \Rightarrow \omega = \frac{E}{t}$$

$$L(x_6) - \dot{x}_6 \left(\frac{\partial L}{\partial \dot{x}}\right)_{X=X_L} = \frac{\partial Sd}{\partial t_L}$$

$$-\frac{t}{i} \frac{\partial K(b,a)}{\partial t_i} = -\frac{t^2}{2m} \frac{\partial^2 K(b,a)}{\partial x_i^2}$$
 required to show in 242

 $t_b > t_a$

vave function:

$$\uparrow (x',t') = \int K(x',t',x,t) \uparrow (x,t) dx$$

Using the equation for
$$K$$
,
$$-\frac{t}{i}\frac{\partial V}{\partial t} = -\frac{t^2}{2m}\frac{\partial^2 V}{\partial x^2}$$
Schrödinger Eq. 1
required to show in 242

Harmonic Oscillator

$$L = \frac{1}{2} m \dot{x}^2 - \frac{1}{2} m \omega^2 x^2$$

$$K(6,8) = \left(\frac{m\omega}{2\pi i + \sin \omega T}\right)^{\frac{1}{2}} \exp\left\{\frac{i m\omega}{2 + \sin \omega T}\left[(x_{\alpha}^{2} + x_{\alpha}^{2})\cos \omega T - 2x_{\alpha}x_{6}\right]\right\}$$

T= t6-ta

7

the exponent has the form of ScI

$$\int_{Cl} = \frac{M \omega}{2 \sin \omega T} \left[\left(X_{\alpha}^{2} + X_{b}^{2} \right) \cos \omega T - 2 X_{\alpha} X_{b} \right]$$
required to show in 242

Perof comes from recursive integration

Schröchinger Equation

$$\uparrow (x, t+\varepsilon) = \int \frac{1}{A} \left\{ \exp \left[\frac{i}{\hbar} \frac{m(x-y)^2}{2\varepsilon} \right] \right\}$$

y = x + 7 substitution, expect large architection for small of only

$$\psi(x,t+\varepsilon) = \int_{-\infty}^{+\infty} \frac{1}{A} e^{i\frac{m\eta^2}{24\varepsilon}} e^{-\frac{i\varepsilon}{4}\sqrt{\left[\frac{x+\eta}{2},t\right]}} \psi(x+\eta,t) d\eta$$

integral contributes in 0 = 171 = \frac{tE}{m} range

$$\psi(x_{i}t) + \varepsilon \frac{\partial \psi}{\partial t} = \int \frac{1}{A} e^{i\frac{m\eta^{2}}{2t\varepsilon}} \left[1 - \frac{i\varepsilon}{t} \sqrt{(x_{i}t)}\right]$$

$$\left[\sqrt{(x_1 + 1)} + \eta \frac{3\sqrt{1 + \frac{1}{2}}}{3x} + \frac{1}{2} \eta^2 \frac{3\sqrt{1 + \frac{1}{2}}}{3x^2} \right] d\eta$$

$$\frac{1}{A} \int_{-\infty}^{+\infty} e^{\frac{im\eta^2}{24\xi}} d\eta = \frac{1}{A} \left(\frac{2\pi i \hbar \xi}{m} \right)^{\frac{1}{2}}$$

$$H = \left(\frac{2\pi i \hbar \varepsilon}{m}\right)^{\frac{1}{2}}$$
 was chosen before!

$$\int \frac{1}{A} e^{\frac{im\eta^2}{2t\epsilon}} \eta d\eta = 0$$

$$\int_{A}^{+\infty} \frac{1}{A} e^{\frac{im\eta^2}{2\hbar\epsilon}} \cdot \eta^2 d\eta = \frac{i\hbar\epsilon}{m}$$

Therefore
$$\psi + \varepsilon \frac{\partial \psi}{\partial t} = \psi - \frac{i\varepsilon}{\hbar} V \psi - \frac{\hbar \varepsilon}{2im} \frac{\partial^2 \psi}{\partial x^2}$$

$$-\frac{t}{i}\frac{\partial \psi}{\partial t}=-\frac{t^2}{2m}\frac{\partial^2 \psi}{\partial x^2}+V(x,t)\psi(x,t)$$
Schrödinger Eq. !